Today, we do 1t all --
equation style!

Non Permissible
Values

Lowest Common
Denominator

There is an equal
sign.

Multiply each
term by the LCD.
Clear fractions.




Solve.
Factoring /
Quadratic
Formula

Check

Non Permissible
values.
Substitute

18 ff Xy~ 3)
— — Y- Ny 3

0979~ &
(F-6Xy-y) (9

Ty -84 -4y £12 = (y
73}/ ~4Q —1f = O



3x 5 —25

é x+2 x—3 X —x—6
/Z/

[cH - QO

% X T 2
-3
7L X+ (X +Z)(><-3)

13 (X=2) = 5 (x#2) 25T O
(x+2)( x-3)

TR < ax ~5x~(0 25 = O

0= U 15 =7
n 7\ ~

po— HEE
A T S e
X (%;5) "'5<>(:_7>>
QQ~ 6)( 3 “_'>
HW: pg: 349

#1,2,3,4,6



